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SUMMATIVE ASSESSMENT -1 (20162017,

SOCIAL SCIENCE -CLASS X (SET 1)
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General Instructions
i e compulsory.

v The question paper consists 30 questions in all guestions are
= s are indicated against cach questions, ol
Marks are indicated a8  shart answer type questions, Each

v Questions (rom serial number 1 to 8 are very sh

" RIS nark.
questions carries one I ‘
Questions from serial number 9 to 21 are three marks et

v Questions from serial number 22 to 29 are five marks ‘llfcqm"f\ ch the
Questions number 30 is a map guestion of three marks from Geography. Atta

map with your answer book,

[.- Name the low priced small books sold in France (1)
OR
\ //ﬁ’hat was the pen name of Mary Ann Evans?

{){ 2. Gully Erosion is common in which basin? (1)

& 3. The Fede:ol system serves which two objectives? (1)

3 In which group of countries is the participation of women in public life high? (1)

. 3. What do you mean by African-American? (1)

16 _What could be a developmental goal of an adivasi from Narmada Valley? (1)

~7. Define Literacy Rate. (1)
18 Which body conducted a survey and said that 20 Lakh Jjobs can be created in education

(1)

;’,‘f ~sector alone?
9. Before the arrival of outsiders, most of the Africans had a | ittle reason to work for a
: : (3)

wage . Explain three reasons,

OR
Why was East India Company keen on expanding textile exports from Indja during the
1760‘? Explain any three reasons. ' ; (3)
OR

. How did the dev elopment or expansion of Bombay (Mulnbai) differ from London?

/ an: any three points of d1ffcrenu
s within international economic cxchang. (3)
OR-

In whu:h th:ee ways did Ih-:' Br:trsh and the
OR

10, Explam the lllree typcs of flow

Indian mzmul‘.’tclurcs and traders h(lvertisc

»thcrr mod_
2 '.,r

e i Wl
How did Lnndon bu.omu a powul’ul m'u,m.r for the migrant population 7. Explain
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11, What swere the limitations of hand written manu seripts wy India 7 Explan, (3)

UR//‘/

,/ How did Jane Austen portray the women of the 19th century in her novels 2

12. What kind ol material was printed for children during nincteenth century 7Describe,
’ ()
p OR
: /—f‘“j}'ﬂhi thret measures adopted to make the novels more accessible to the people in
AttoperCighteenth century.
1 }'-h}' st essential to have resource planning ? Explain any three reasons. (3)
14 Eanumcrj},clhé features of Joint Forest Management Programme. (3)
13. "lﬂ}c&m years, multi purpose projects and Jarge dams have come under great scrutiny
and opposition.” Support the statement with three arguments. (3)
16/ Overlapping social difference creates possibilities of social division and tension .
Explain. (3)
17. Gandhitji used to say that “Religion can never be separated from politics™ . Why? (3)
18. Di.\;uus‘s, the three factors that determine the outcomes of politics of social division (3)
19. Wh_ut'ﬁn you mean by disguised unemployment? (3)

20/ Money in your pocket cannot buy all the goods and s=vvices that you need to live well.

How? (3)
21. Study the table and answer the questions.
[ STATE | PERCAPITA INCOME
| Punjab 1 26000
Kerala 22800
Bihar - 5700 ]
L

* a)¢ Which state has the highest per capita income?
b) Which state has the lowest per capita income?

c) MWhich state is better 7 Why? (a+%+2)
22. Describe the social and economic effects of the World Wars on England and USA.(5)
" ' OR
What was the impact of World War I on the Indian industries?
o
A i - OR

#

W};y‘fiid the cqnccp} of ‘Garden City’ come up in London ? Describe the different
efforts initiated to beautify London.

|23, Which new inventions in technology increase the circulation of printed material ?

Explain. s : : (5)
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:J,s(rnlu the different soe |nl 55016

: G )1
LR SO T , ickent
their novels, Wldressed by Thomay Hardy and Charles Dicke

v"-
.

e 3
24, Explain ‘m}, II\L inttintives taken by the
agricbtural production,

(5)

Lovernment 1o ensure the inerease in

25, How do muu)]».mg number ol industrics exert pressure on existing fresh water
_resoureey 2 _ ()

/’/"‘

E e
‘l'://l'(c Bolfiian Maodel of power sharing was very complicated. But it has worked well.

How?
X / / (5)
27, Why do wgaed u local government(? ' ()

28. Howire the three seetors of economy interdependent 2 Explain with five suitable
examples, ; (5)
29. Explain the importance of sustainable development by giving the example of ground

,r" . waler, : (3)

303,00 the given Indian map (3)
Ju) Locate and fabel Hirakud Dam
/b) Identify 1) A soil type i) A major wheat producing area,

1 . RARRETIREN RN b
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